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QID : 201 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The first and decisive step (1)/ in the expansion of Europe overseas (2)/ was the conquest of Atlantic Ocean. (3)/ No error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: 4

QID : 202 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The word ‘Macabre’ had been gained its significance from its (1)/ use in French as la danse macabre for the allegorical (2)/ representation of the universal power of
death. (3)/ No error (4)

Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

QID : 203 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

She was chatting the cars.
Options:

1) of

2) about

3) with

4) on

Correct Answer:  about
Candidate Answer:  about

QID : 204 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Success is achieved twice, once in the mind and the second time in the world.
Options:

1) real

2) virtual

3) fantasy

4) artificial

Correct Answer:  real

Candidate Answer:  real

QID : 205 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Naive
Options:

1) Sarcastic
2) Artful

3) Skeptical
4) Ingenuous
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Correct Answer:  Ingenuous
Candidate Answer:  Ingenuous

QID : 206 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Surly

Options:

1) Sweet

2) Unfriendly

3) Clear

4) Pleasant

Correct Answer:  Unfriendly

Candidate Answer:  Clear

QID : 207 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Myopic

Options:

1) Blind

2) Biased

3) Careless

4) Farsighted

Correct Answer:  Farsighted

Candidate Answer:  Farsighted

QID : 208 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Defile

Options:

1) Pollute

2) Abuse

3) Shame

4) Honour

Correct Answer:  Honour

Candidate Answer:  Honour

QID : 209 - Rearrange the parts of the sentence in correct order.

Attempts in India

P : honesty and more by blind faith
Q : by the government to validate traditional
R : medicine are driven less by
Options:

1) QPR

2) RPQ

3) QRP

4) RQP

Correct Answer:  QRP

Candidate Answer:  QRP

QID : 210 - A sentence has been given in Active/Passive Voice. Out of the four given alternatives, select the one which best expresses the same sentence in
Passive/Active Voice.

The officer cuts down the tree.

Options:

1) The tree is cut down by the officer.
2) The tree got cut down by the officer.
3) The tree is cut by the officer.

4) The tree cut by the officer.

Correct Answer:  The tree is cut down by the officer.
Candidate Answer:  The tree is cut down by the officer.

QID : 211 - A sentence has been given in Direct/Indirect Speech. Out of the four given alternatives, select the one which best expresses the same sentence in
Indirect/Direct Speech.

Raj said, “I am happy to be here this evening.”
Options:

1) Raj said that he was happy to be there that evening.
2) Raj was happy to be there this evening.

3) Raj said he was happy to be there this evening.

4) Raj says he is happy to be there.

Correct Answer:  Raj said that he was happy to be there that evening.
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Candidate Answer:  Raj said that he was happy to be there that evening.

QID : 212 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Glamerous

2) Glamrous

3) Glamorous

4) Gleamorous

Correct Answer:  Glamorous

Candidate Answer:  Glamerous

QID : 213 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral language must be traced to the mastery of words.

is better suited to lead speakers and readers English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aim is to be heard and . A clear, crisp holds an audience as by the spell of some irresistible
power.
the most perfect of thought and feeling
Options:
1) express

2) expressive

3) expressings

4) expression

Correct Answer:  expression
Candidate Answer:  expression

QID : 214 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral language must be traced to the mastery of words.

is better suited to lead speakers and readers English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aim is to be heard and . A clear, crisp holds an audience as by the spell of some irresistible
power.

mastery of words. is better suited to lead
Options:

1) No

2) Not

3) None

4) Nothing

Correct Answer:  Nothing

Candidate Answer:  Nothing

QID : 215 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral language must be traced to the mastery of words.

is better suited to lead speakers and readers English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aim is to be heard and . A clear, crisp holds an audience as by the spell of some irresistible
power.

and readers English into an easy
Options:

1) for

2) of

3) from

4) at

Correct Answer:  of

Candidate Answer:  for

QID : 216 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral language must be traced to the mastery of words.

is better suited to lead speakers and readers English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aim is to be heard and . A clear, crisp holds an audience as by the spell of some irresistible
power.

aim is to be heard and . A clear
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Options:

1) understand

2) understandable

3) understood

4) understandably

Correct Answer:  understood

Candidate Answer:  understood

QID : 217 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the
given blank out of the four alternatives.

The most powerful and the most perfect of thought and feeling through the medium of oral language must be traced to the mastery of words.

is better suited to lead speakers and readers English into an easy control of this language than the command of the phrase that perfectly
expresses the thought. Every speaker's aim is to be heard and . A clear, crisp holds an audience as by the spell of some irresistible
power.
crisp holds an audience as
Options:
1) articulate

2) articulates
3) articulations
4) articulation

Correct Answer:  articulation
Candidate Answer:  articulation

QID : 218 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

At the top of your lungs

Options:

1) Be a habitual smoker.

2) Be breathless after an exhausting physical task.
3) Feel suffocated in a very crowded place.

4) Extremely loudly.

Correct Answer:  Extremely loudly.
Candidate Answer:  Be breathless after an exhausting physical task.

QID : 219 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

The wheels have come off

Options:

1) To use something so much that it wears out.

2) Things start to fail or go wrong, especially after a period of success.
3) To do a shoddy job which is destined to fail.

4) Make an excuse to avoid doing a task.

Correct Answer:  Things start to fail or go wrong, especially after a period of success.
Candidate Answer:  Things start to fail or go wrong, especially after a period of success.

QID : 220 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

An attractively tall, graceful, and dignified woman
Options:

1) Terse

2) Pithy

3) Sententious

4) Statuesque

Correct Answer:  Statuesque
Candidate Answer:  Statuesque

QID : 221 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words/sentence.

The return of someone to his own country
Options:

1) Repatriation

2) Migrate

3) Emigrate

4) Immigrate

Correct Answer:  Repatriation

Candidate Answer:  Immigrate
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QID : 222 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

The doctor removed the eye patch and asked him how he (were feeling)
Options:

1) was felt

2) has feeling

3) was feeling

4) no improvement

Correct Answer:  was feeling

Candidate Answer:  was feeling

QID : 223 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

It is nothing less than magic which (will transformed)  tiny teeny seeds into fruits of life.

Options:

1) transform

2) transforms

3) transforming

4) no improvement

Correct Answer:  transforms
Candidate Answer:  transforms

QID : 224 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

Many a bird found
A-secure in the branches
B-safety in the trees and
C-built their nests, feeling
Options:

1) BAC

2) BCA

3) ACB

4) ABC

Correct Answer: BCA
Candidate Answer:  BCA

QID : 225 - In the following question, four words are given out of which one word is correctly spelt. Select the correctly spelt word.

Options:

1) daclination
2) declineation
3) declination
4) daclineation

Correct Answer:  declination
Candidate Answer:  declination

QID : 226 - In the following question, select the related word pair from the given alternatives.

fraAfaf@d yea # few a1e fasheut & & weftd wsg 7o 1 gfav|

HRH AT :?:?

Options:

1) Hot : Water

;A 2 STl

2) Love : Care

UH : SEHTA

3) Green : Go

[RUSIGH

4) Up : Down

IR ;A

Correct Answer:  Up : Down
IW ;A

Candidate Answer:  Up : Down
IR o
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QID : 227 - In the following question, select the related number pair from the given alternatives.
31:42::7?:7
fRrfaf@a yea # U arv fashedl # & Hafrd dear g7a &t gfav)

31:42::?:7

Options:

1)53:64

2)47:59

3)61:73

4)44: 34

Correct Answer: 53 : 64
Candidate Answer: 61 :73

QID : 228 - In the following question, select the related letter/letters from the given alternatives.
FUT : JYX::BUG : ?
el e # fow 1w fashedt 7 & Feftie 376R/371&RT I giav|

FUT : JYX: :BUG : ?
Options:

1) AYG

2) FYK

3) LCK

4) FAM

Correct Answer:  FYK
Candidate Answer:  FYK

QID : 229 - In the following question, select the odd word from the given alternatives.

e e # fow 1w fashout 7 & fawe eree; 1 iav|
Options:

1) Ocean

HEER

2) Sea

BSEiCY

3) Desert

BEleic)

4) River

G

Correct Answer:  Desert

IR

Candidate Answer:  Desert

rEa

QID : 230 - In the following question, four number pairs are given. The number on left side of (-) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

& few aTw veet #, IR HEdm oA fow 1w g (-) & arRi 3R & e (<) & il X A 918 Tt @ o/ fAaH @ T §) e 38 v o/ fAEH & 3TUR ) qAe
g1 few 77T famwet 7 & freet &1 gfT)

Options:

1) 101 - 105

2) 103 - 107

3) 102 - 106

4) 104 - 106

Correct Answer: 104 — 106
Candidate Answer: 104 — 106

QID : 231 - In the following question, select the odd letter/letters from the given alternatives.

PrATAf@ e & fow 1w fasheut 7 & fawer 31eR/31eRT &1 giaw|

Options:
1) KQW
2) RXD
3) BHN
4) AGL

Correct Answer:  AGL
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Candidate Answer:  AGL

QID : 232 - From the given alternatives, according to dictionary, which word will come at the LAST position?

1. Toast

2. Torpedo
3. Tounge
4. Trickle
5. Trick

T80 970 faehedl & @, Areeehiel & 3THR, HisT AT Asg IHfaw TUH W HRm?

1. Toast

2. Torpedo

3. Tounge

4. Trickle

5. Trick

Options:

1) Trick

2) Trickle

3) Tounge

4) Torpedo

Correct Answer:  Tounge
Candidate Answer:  Trickle

QID : 233 - In the following question, select the missing number from the given series.
13,17, 19, 23,29, ?
et yeat # T a1v fashedl & & ofcd 37 71 Hifiv |

13,17, 19, 23, 29, ?
Options:

1)33

2)31

3)35

4) 37

Correct Answer: 31
Candidate Answer: 33

QID : 234 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
uy, sV, Qs, OP, ?
Teh 37eTshe 18T a1 B, TS e & Ueh Ug ofed 1 few 1w faehodt & & a8 @Y fashow giav, St Jiefshar &1 g1 Y|

Uy, sv, Qs, OP, ?
Options:

1) NM

2) ML

3) MM

4) KL

Correct Answer: MM
Candidate Answer: MM

QID : 235 -L, M, N, O and P are sitting in a line facing east. L and M are sitting together. N is sitting at north end and O is sitting at south end. P is the neighbour
of M and N. Who is third from north end?

L, M, N, O 7T P Ua dferet 3 g &Y 3R q@ &<k 35 &1 L FUT M T 1Y 38 &1 N 3cadl ©R W Fa7 § 1 O Zfarof s o da7 1 P, M @ar N &7 gsift &1 3call sR &
AT Hie 82

Options:

1)L

2)0

3)M

4)p

Correct Answer: M

Candidate Answer: M
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QID : 236 - From the given alternatives, select the word which CANNOT be formed using the letters of the given word.

Corporate
& a7 fasmedt 7 & a8 eg IRAT S AT T g & 3R FT TET e AGT AT S el B

Corporate
Options:
1) Poor
2) Rate
3) Cat

4) Prove

Correct Answer:  Prove
Candidate Answer:  Prove

QID : 237 - In a certain code language, “PRICE” is written as “"GEKTR” . How is "VALUE" written in that code language?

Te fafrse 15 amm #, "PRICE” &Y “"GEKTR” for@rm SITer 1 5 I3 #19T & "VALUE” & fore SR forar Simeem?

Options:

1) FWNCX
2) FNWDY
3) DWNCY
4) GWNCX

Correct Answer:  GWNCX
Candidate Answer:  GWNCX

QID : 238 - In a certain code language, '-' represents '+', '+' represents 'x', 'x' represents '+' and '+' represents '-'. Find out the answer to the following question.

9-18+35x10+30="?
Ry ARTT FIS W 7 -, '+ A TSRTT FaT g, '+', X' I ISRIT IAT &, 'X, '+ T UeRid & § 3R '+, - Y weRid Far &1 Reafaf@d ura &1 3ca’ A0 H|

9-18+35x10+30="7?
Options:

1) 44

2) 42

3)40

4) 41

Correct Answer: 42
Candidate Answer: 42

QID : 239 - The following equation is incorrect. Which two signs should be interchanged to correct the equation?
20+14+5x20-2=56
TFafafd TH0T 7Ted §| 57 THAIUT HT TET el o [olU fohet T fIeaT T TIH 7 G- ol el ATgT?

20+14+5x20-2 =56
Options:

1) + and x

+ 3tk x

2) +and -

+ 3R -

3)+and +

+ 3R+

4)-and +

-3+

Correct Answer:  + and -
+ 3R -

Candidate Answer:  + and -

+ 3R -

QID : 240 -If 16al = 8, 14a6 = 42 and 12a5 = 30, then find the value of 2a6 = ?

Ifg 16al = 8, 14a6 = 42 3R 12a5 = 30, At 2a6 T AT AT HL|

Options:
1)6

2) 18
3)4

4) 10
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Correct Answer: 6
Candidate Answer: 6

QID : 241 - Which of the following terms follows the trend of the given list?

XYZXYZXYZ, XYZXYZXYZ, XYZXyZXYZ, XYZXYZXYZ, XYZXYZXYZ,
TrATafad & & wier @1 ug &1 972 G & e o AR §?

XYZXYZXYZ, XYZXYZXYZ, XYZXYZXYZ, XYZXYZXYZ, XYZXYZXYZ,

Options:
1) XYZXYZXYZ

2) XYZXYZXYZ
3) XyZXYZXYZ

4) XYZXYzXYZ
Correct Answer:  XyZXYZXYZ
Candidate Answer:  XyZXYZXYZ

QID : 242 - An insect walks 15 cm East, then it turns to its right and walks for another 20 cm. then it turns right and walks 4 c¢cm, then it turns North and walks 20
cm, then finally it turns to its left and walks 2 cm. Where is the insect now with respect to its starting point.

T e qF HT /e 15 T3, ol §, T a8 39 a1feet 3R 775 S1rar & 3R 6T 3mY 20 H.70. e Torar §17 a5 3r9et afgett aXh 73 ST & 3R 3T 4 H.A. T
&, FT a8 3cay T TR H3 1T § 3R 31 20 F.7Y. Torar &, f 31 3 T 31el a8 3R T3 § 3 31m3T 2 Woafh. =rorelr 1 3y sl &g & weer 3 319 9 Hie Tl
&

Options:

1) 9 cm East

9 #.. q@

2) 21 cm East

21§, qd

3) 9 cm West

9 F.70. uR=H

4) 21 cm West

21 §.0. aiREH

Correct Answer: 9 cm East

9 .. qd

Candidate Answer: 9 cm East

o Faf. o

QID : 243 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some games are sports
Statement II:  No exercise are games

Conclusion I:  All sports are exercise
Conclusion II:  Some exercise are sports

9T 7 &l T & 7 & formas 39T &) fasehy [ 311% 11 fAarer a1 €1 319! AT & o alat e e § I8 98 AT ATd a2at ¥ ffeeT Uad 8l 8l 3maenr fFoRr
FTAT § H1 T 0 forserst 7 F wla-an/Hla-3 ARad FT F FUeT gaRT T fARTen S vl &/T%a &, I PS8

FUA [: T N F TNEF AT E
FUA II: F1S 7 A g 76 @

fass 1 @ah Tohéa oA Bl &

forsed 11: o sarme Fca ela &

Options:

1) Only conclusion I follows

harel fosh 1 TE

2) Only conclusion II follows

o fsewy 11 a8 §

3) Both conclusions I and II follow

gt forseRy I 34 I &Y &

4) Neither conclusion I nor conclusion II follows

AT Y TSy [ TEr & AT &) sy 11
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Correct Answer:  Neither conclusion I nor conclusion II follows

AT A TSRy 1 ey & &1 &) sy 11

Candidate Answer:  Neither conclusion I nor conclusion II follows

AT Y TSy [ T&Y & a1 &) foshy 11

QID : 244 -
In the following figure, rectangle represents Journalists, circle
represents Art critics, triangle represents Campers and square
represents Mothers. Which set of letters represents Mothers
who are Campers?

fowataf@d Iid # HOd TR @ FERd W ¢,
Tedl oll ol F1 eia #xe ¢, e o # vefia
e § 3R At @ Geiid W gl 3Rt 71 A @
g 3 A F Ve H ¢ S g

C N

EID/ C

N

Options:
1) DC

2) BDCH
3) EDC

4) HEB
Correct Answer: DC
Candidate Answer:  DC

QID : 245 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ENG, GQI, ITK, KWM, ?

T TR o aram &, Toreet & v ug ot §1 fw aTe faened! 7 & a5 WeY e 9iTT, St 31T O |

ENG, GQI, ITK, KWM, ?

Options:

1) NAP

2) MZO0

3) MAO

4) NZP
Correct Answer:  MZO
Candidate Answer:  MZO

QID : 246 - In the following question, select the missing number from the given series.
58, 61, 65, 70, ?, 83
RraAfaf@a gea & faw a1w fasredt # & qedt 3t w1d AT

58, 61, 65, 70, ?, 83
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Options:
1) 77

2) 76
3)78

4)75
Correct Answer: 76
Candidate Answer: 76

QID : 247 - In the following question, four groups of three numbers are given. In each group the second and third number are related to the first number by a
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

A faw arw wreeT A, et FEanst & IR wg f6d 1w € wedss wogg 7 gl qur el wear veel wem § e v /e @ weafia g1 e 38 v /e &
IR T FAT §1 T 1w et & & et a1 i

Options:

1) (7, 14, 21)

2)(5,12,19)

3) (3, 10, 17)

4) (9, 16, 35)

Correct Answer: (9, 16, 35)
Candidate Answer: (9, 16, 35)

QID: 248 -
If a mirror is placed on the line MN, then

which of the answer figures is the right
image of the given figure?

afg va g9or # MN @1 9 w@r Se ar &
Tl 3o} Al A Hle-AT WG TR
R 1 T SR g

v
e




Options:
1)

2)

3)

N

4)

Correct Answer:

e
AN

Candidate Answer:

N

N
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QID: 249 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fArfaf@a 3cat 3mfa & & S @1 g1 U
T TR WPfA F F G g7 F T AG
ST HehaT?

2o 7 | O X

Options:
1)

2)

3)

4)

Correct Answer:
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Candidate Answer:

074
QID: 250 -

A word is represented by only one set of numbers as given in any one of the alternatives. The sets
of numbers given in the alternatives are represented by two classes of alphabets as shown in the
given two matrices, The columns and rows of Matril are numbered from 0 to 4 and that of Matrix-I
are numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by
its column, for example 'F' can be represented by 41, 24 etc and 'V' can be represented by 57, 78 etc.
Similarly, you have to identify the set for the word 'MOCK'.

TF E Fa0 UF G- AN g wa g, e i fwedt & ¥ R
w & o ) Rwedt & Rr v dem-weg e & & @ g g
T §, ot fF fow e @ aeggt A g1 gyl & we AR Ofdd f e
0% 4 3 3l 1 5 3 9 %1 57 e A 0F WA A e 39 o
W &g # FF TE @RI QAT ST HAT B3GRV & fav Foa 41, 24
e qarr qeffar o wwer & @ V' @ 57, 78 wfe qEw gl o wear £
= e ¥ 3 WA A U s ‘MOCK F fav w9 & gz ¢l

Matrix | Matrix Il
TR -1 =R -0
0 | 1| 2 s | a]] s [ s ?_3_4_9
0 E M F ] A 5 v W v x | =
1 B H L M I [ Y N o] s | o
7 K ] C M F 7 z N R vo|ox
3 M H B D A 8 W X Y w 5
4 B F 1 G E 9 p ¥ 5 S O
Options:
1) 20,86,11,65
2) 13,67,22,20
3) 12,89,12,69
4) 20,59,20,76
Correct Answer:  13,67,22,20
Candidate Answer:  13,67,22,20
QID : 251 - Find the square root of 1485961.
1485961 T FIHeT AT Hifor|
Options:
1) 1213
2) 1219
3) 1229
4) 1239
Correct Answer: 1219
Candidate Answer: 1219
QID : 252 -
a-b

If a*+h* =80 and ab = 32 then calculate the value of i
y a+

afe a®+bh* =80 3 ab=232 al % i A H AT FiEw]
g =

- Powered by IBT
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Options:
1) 0.337

2) 0.339
3)0.333

4) 0.335
Correct Answer:  0.333
Candidate Answer:  0.333

QID: 253 -
What is the value of (7776 )¢ ?

[_—???6]?: & A H 57

Options:
1) 16

2)36
3) 64

4)21
Correct Answer: 36
Candidate Answer: 36

QID: 254 -

What is the value of x* — ! +8 whenSx—E—1B=[}?
X X

X — g e @ Y, Al 8x-2-16-0%7
X X

Options:
1)6

2)8
3) 16

4) 22
Correct Answer: 22
Candidate Answer: 22

QID : 255 - The triangle in which the orthocenter, circumcentre, Incenter and the centroid coincide each other at a point is known as

T Feget Foreret erwehg, TR 31745 3R e O o Rig TR et & Fe &l
Options:

1) isosceles triangle

2) equilateral triangle

g g

3) right angled triangle

LECIMREEE

4) obtuse angled triangle

FHfRrepentoT Tgget

Correct Answer: equilateral triangle
g P

Candidate Answer:  equilateral triangle
g g

QID : 256 - If the radius of a circle is decreased to 25% of its original value, calculate the percentage decrease in the area of the circle.

T et gt BT FIsar 3! T AT § 25% ofeh A 8 I &, o R g o &1l F Gfaerd & &ar &1 1o wY
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Options:

1) 25%

2) 43.75%

3) 50%

4) 93.75%

Correct Answer:  93.75%

Candidate Answer:  43.75%

QID : 257 - On decreasing the price of a fan by 40%, its sales increases by 50%. What will be the percentage increase or decrease in its revenue?

T G & Hed &l 40% § HH Ha W 3TH fIsh1 50% & a6 STl ¢ | 386 Torea A fovcdel gfaerd 1 gfg srerar i giafr?
Options:

1) 15% increase

15% 1 3ig

2) 15% decrease

15% T AT

3) 10% decrease

10% T T

4) 10% increase

10% r aﬁg’

Correct Answer:  10% decrease
10% T T

Candidate Answer: [ NOT ANSWERED ]

QID : 258 - A sum of Rs 2489 is divided among A, B and C such that if Rs 12, Rs 12 and Rs 5 be diminish from the shares of A, B and C respectively, then their
shares will be in the ratio of 5 : 3 : 4. What is the new share (in Rs) of C?

2489 T FHI AT FI A, B TUT C H 37 YR fadiod Far g T afg A, BT CHF REGT H T FAM: 12F, 12T TAT5 T FA I QU AT, AN 3k @ed 5:3: 4%
JHefaTel A g1aT| C 1 T feewr (3 #) v §?

Options:

1) 750

2) 1060

3) 1475

4) 820

Correct Answer: 820
Candidate Answer: 820

QID : 259 - The milk and water in two vessels are in the ratio of 3 : 1 and 7 : 11 respectively. In what ratio should the liquid in both the vessels be mixed to obtain
a new mixture containing half milk and half water?

&Y STl 3 A QU AU A 3 1 1 AT 7 2 11 % eIt H &1 Sl Sciedt & alell 1 fomay J1eTorrer ¥ T ST Forerdr e q&r 1T e Siet aell Ueh o1 fAS0T reet 8t
Sme?

Options:

1)5:7

2)4:9

3)1:1

4)4:7

Correct Answer: 4:9
Candidate Answer: 4:9

QID : 260 - Average of 14 numbers is 32. If the average of last 5 numbers is 26, then what is the average of the remaining numbers?

14 TEansit &1 3itad 32 81 afe 3ifaer 5 Teansi & 3itad 26 §, af Qv Teansi & sitad Far g?

Options:
1)35.33

2) 41.33
3)27.5

4) 44.5
Correct Answer:  35.33
Candidate Answer:  35.33

QID : 261 - A person borrows some money for 8 years at a rate of simple interest. If the ratio of principal and total interest is 5 : 8, then what is the rate (in
percentage) of interest?

Teh STl HTETROT STST T Teh &X & 8 TS & foIT Fre €Y SUR AT &1 Afe FHLAEIT T Fool ST 7 3T 5 2 8 &, T ST v X (Sfeveray #) 7 872
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Options:

1) 10

2) 20

3)25

4) 30

Correct Answer: 20
Candidate Answer: 20

QID : 262 - Cost price of a watch is Rs 530. If the loss percentage is 24%, then what is the value (in Rs) of loss?

TS €8I T HT H{ed 530 ¥ §1 AR g TR 24% &, @ giiet &1 A (% ) R 82

Options:
1) 127.2

2) 153.2
3) 139.4

4) 114.2
Correct Answer:  127.2
Candidate Answer:  127.2

QID : 263 - Mahesh buys a watch of Rs 300 and sells it. Mahesh gives two successive discount of 15% and 6% to the buyer. What will be the selling price (in Rs) of
the watch?

FEA 300 T T U T TGAT & AAT 3 I &AT §| TS AEH H 15% AT 6% 1 a1 A T el §1 787 &1 [ 7o (F ) a7 gem?

Options:
1)213.4

2) 242.3
3)239.7

4)247.4
Correct Answer:  239.7
Candidate Answer:  242.3

QID: 264 -

What is the simplified value of J12- %?

\h_—% T T d A & 82

Options:
1) 5V3

2) 5/v/3
3)3vs

4) 3/V5
Correct Answer:  5/v3
Candidate Answer:  5/v3

QID : 265 - P can complete a work in 15 days and Q in 24 days. They began the work together, but Q left the work 2 days before its completion. In how many
days, was the work completed?

P U& &4 &1 15 ot TUT Q, 24 R & U X Hehell §1 37elel Ueh WY TSR 1 all 3RS foralm ol Q &1 T 81t & 2 R 9 v sigant <rall arar| il &l
B & foctat Tt orar?

Options:
1) 12

2) 10
3)9

4) 11
Correct Answer: 10
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Candidate Answer: 10

QID : 266 - A bus moves at a speed of 84 km/hr after repairing and moves at a speed of 56 km/hr before repairing. It covers 2x distance in 8 hours after repairing.
How much time (in hours) will it take to cover x distance before repairing?

Toh SH HWFAT S & YT 84 T, 7Y, ufey gt 1 a1fal & =rofcll § T FREHAT e & gl 56 foh. 7. iy vt 1 a1fe @ =rofcll &1 AHT el o TRl a6 2X §U
8 € 3 T FIA §| FAA F A Tge x Gl B T A H qg Fheler FA (e ) e

Options:

1)8

2)5

3)6

4)9

Correct Answer: 6

Candidate Answer: [ NOT ANSWERED ]

QID: 267 -

The pie chart shows the breakup of expenditure of a
college for the year 2017. Study the diagram and answer
the following questions.

Tg 913 AIC a¥ 2017 & U U @l & T F
faorseT wefdla &Xar B 50 3NW & JeTqT HY AR
fArafaf@a weat & 3caw &

Expenditure (in Rs Lakhs) / &3 (d@ $94 #)

The highest expenditure is for which item?

8 T @ e Ag 9T FoRaT ST 82
Options:

1) Rent

Enpi

2) Marketing

ot

3) Assessments

3Tehelel

4) Placements

[GRIES]

9
Correct Answer:  Marketing

oo

Candidate Answer:  Marketing
faore



www.makemyexam.in - Powered by IBT

QID : 268 -

The pie chart shows the breakup of expenditure of a
college for the year 2017. Study the diagram and answer
the following questions.

qg I3 IIC a9 2017 & U U dledl & <A H
fasrseT wefdia Xar &1 30 3NW & JeTqT Y AR
fArafaf@a weat & 3caw &

Expenditure (in Rs Lakhs) / 209 (a@ $99 #)

What is the total expenditure (in Rs lakhs)?

Fel T (T & H) FAT &
Options:

1) 1800

2) 900

3) 2000

4) 1000

Correct Answer: 1800
Candidate Answer: 1800
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QID : 269 -

The pie chart shows the breakup of expenditure of a
college for the year 2017. Study the diagram and answer
the following questions.

qg I3 IIC a9 2017 & U U dledl & <A H
e 9efdia T §1 30 3T FT FLIIA Y 3R
fArfaf@a weat & 3w &

Expenditure (in Rs Lakhs) / 209 (a@ $99 #)

The measure of the central angle of the sector representing Faculty is degrees.

Hehr & FfafAfRica e aTel 817 & el SIvT &1 AT f2af 81

Options:
1) 30

2) 45
3)75

4) 60
Correct Answer: 60
Candidate Answer: 60
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QID: 270 -

The pie chart shows the breakup of expenditure of a
college for the year 2017. Study the diagram and answer
the following questions.

qg I3 IIC a9 2017 & U U dledl & <A H
fasrseT wefdia Xar &1 30 3NW & JeTqT Y AR
fArafaf@a weat & 3caw &

Expenditure (in Rs Lakhs) / 209 (a@ $99 #)

Expenditure on Assessments and Placements constitute what percent of total expenditure?

HTehefel 3R FAGFT IR FoRaT STTet aTell &89 Foof &7 T FeheTal HierereT &2
Options:
1) 33.3%

2) 25%
3) 30%

4)27.77%
Correct Answer:  27.77%

Candidate Answer:  27.77%

QID : 271 - The perimeter and the breadth of a rectangle are 60 cm and 14 cm respectively. Find its area (in cm?).

T 3T A 1 IRATT 3R i3S sweaer: 60 T3, 3K 14 F.#. §isaer 9w (a9t .47 #) aa &
Options:

1) 112

2) 448

3) 224

4) 336

Correct Answer: 224

Candidate Answer: 224

QID : 272 - If the perimeter of a semi-circle is 108 cm, then find its radius (in cm).

g T YeAT-ged T IRAT 108 F.77. §, o 8T Braam (.. 1) A a1
Options:

1) 42

2)28

3) 56

4)21

Correct Answer: 21

Candidate Answer: 21
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QID : 273 - Find the volume (in cm3) of a cube of side 7.5 cm.

7.5 .. HY $ST aATeT Ueh ©eT T 3Tl (TT F.A. ) A1 A

Options:

1) 421.875
2) 77.145
3) 39.245
4) 24.435

Correct Answer:  421.875
Candidate Answer:  421.875

QID : 274 - What is the value of (cot30°+ 2/V3) ?

(cot30°+ 2/V/3) T AT FT §?

Options:

1) 5/v3

2) (1+2V3)/2

3)5/6

4) 2/V3

Correct Answer:  5/+/3
Candidate Answer:  5/v/3

QID : 275 - AXYZ is right angled at Y. If tanX = 24/7, then what is the value of cotZ ?

AXYZ F Y 9T THRT §| AT tanX = 24/7, A cotZ &1 AT FT §?

Options:
1) 25/7

2) 24/25
3) 7/24

4) 24/7
Correct Answer:  24/7
Candidate Answer:  24/7

QID : 276 - When the productive capacity of the economic system of state is inadequate to create sufficient number of jobs, it is called

ST ST & 3 T T 3cTeeh &THAT TS AR AT Folel el 3 37&TH gich §, ar 39 &gl ST ¢
Options:

1) seasonal unemployment

HFHT SISy

2) structural unemployment

FTATHS AT

3) disguised unemployment

JoGeel SRISTITT

4) cyclical unemployment

T RIS

Correct Answer:  cyclical unemployment
TR SRISTIRY

Candidate Answer:  disguised unemployment
I SRUISTITRT

QID : 277 - Which of the following contributes the maximum earning in Indian Railways?

AT F ARSI Yod 7 31FaH FATS F7 AeTET HieT T 82
Options:

1) Passenger Earning

I & A

2) Goods Traffic Earning

AT IS & 3T

3) Sundry Earning

P/ fafay 3m

4) Other Coach Earning

3T HT H AT

Correct Answer:  Goods Traffic Earning
AT IS & 3T
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Candidate Answer:  Goods Traffic Earning
ATl AT 8 3T

QID : 278 - Which of the following Vedas is referred to as the starting source of the word Rudra?

FT & § 58 3¢ T g ATHS 216 T IRTAF T ATAT 1T &2
Options:

1) Rigveda

Hadg

2) Samaveda

HHAG

3) Yajurveda

apde

4) Atharvaveda

3HdAg

Correct Answer:  Rigveda
Hade

Candidate Answer:  Rigveda

®Ide

QID : 279 - The eminent Saint Vallabhacharya was associated with which of the following branches?

T T Jedsmar FrT 7 & g arar & dag 27
Options:

1) Gyanashrayi

AR

2) Krishnashrayi

FSUTHAT

3) Premashrayi

AT

4) Ramashrayi

AR

Correct Answer:  Krishnashrayi
FSUTHAT

Candidate Answer: [ NOT ANSWERED ]

QID : 280 - Which of the following is NOT a terrestrial planet?

Peafaf@a & O i v o g 767 872
Options:

1) Mercury

T

2

2) Venus

Ned

3) Mars

T

4) Saturn

afar

Correct Answer:  Saturn

erfer
Candidate Answer:  Saturn

erfer

QID : 281 - The Line of Cancer passes through how many states of India?

T YT AR & fohelol Tl T GIa orell 2

Options:
1)5

2)6
3)7

4)8
Correct Answer: 8
Candidate Answer: 8
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QID : 282 - When was Guru Nanak Dev born?

T[% #ATeTeh & I STed el g3 2
Options:

1) 1449 AD

1449 5.

2) 1453 AD

1453 8.

3) 1469 AD

1469 .

4) 1499 AD

1499 8.

Correct Answer: 1469 AD
1469 .

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - Which of the following country is NOT a member of the ‘Indian Ocean Rim Association (IORA)?

A& & & ia-ar 3 e AgAPR ad 8 dgater Tg (IORA)HT TeEd =Tel &2
Options:

1) Seychelles

aeq

2) Sri Lanka

HroiepT

3) India

AT

4) China

AT

Correct Answer:  China
Gict

Candidate Answer:  Seychelles

el

QID : 284 - Which of the following President was awarded the Nobel Peace Prize 2016?

rAfaf@a # @ g ogufar @1 Ao 2nifd EpR 2016 & FEATiAd R aram ar?
Options:

1) Raffel Korea

TheT AT

2) Juan Manuel Santos

31T Heg3rel derd

3) Donald Trump

3iATes ¢

4) Alexander Lukashenko

TRAFIUST hTeleeh!

Correct Answer:  Juan Manuel Santos
3T Heparer der

Candidate Answer:  Juan Manuel Santos
3T Hegarel dere

QID : 285 - Who is the the present Prime Minister of Pakistan?

TRREATE & TAAT TTeT FHT T &2
Options:

1) Mamnoon Hussain

FHA §1ﬁfrr

2) Shahid Khagan Abbasi

QTR WTeheT JTaTHT

3) Muhammad Nawaz Sharif
HIGFAG ATl WH

4) Yousaf Raza Gillani

g Toim et

Correct Answer:  Shahid Khagan Abbasi
QMG WTeheT JTeaTHT
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Candidate Answer:  Yousaf Raza Gillani
g Tl el

QID : 286 - In which part of the human body fat is completely digested?
AT RR & o e 3 aar &1 quiar e gar §?

Options:

1) Small Intestine

BIET 377

2) Lever

REGIGIED)

3) Stomach

AT (FSHF)

4) Large Intestine

3 30

Correct Answer:  Small Intestine
BICT 377

Candidate Answer:  Small Intestine
BIET 377

- Powered by IBT

QID : 287 - Which of the following statement(s) is/are INCORRECT regarding Phosphorus?

ATl 7 & IewRE & Teat 7 Fiet T/ FHUT FE 81 8/8?
Options:

1) Phosphorus reacts vigorously with water.

BIEHRE STeT T 31T T B

2) It is a non-metal.

I Teh 3741 &

3) It catches fire on reacting with air.

Tg g & HTRIHIT T 3T h3 oIl &

4) It is found in group 15 of the modern periodic table.

Ig 3MYfereh et GROM & Fg 15 & urar S

Correct Answer:  Phosphorus reacts vigorously with water.

BERRY STel § 3TAFHAT HLaT B

Candidate Answer: It catches fire on reacting with air.

Tg AT W JTATHIT T 3T Iohs oIl B

QID : 288 -
Match the following.

Teif@a =1 T Hifao)

Body / &M Type | 99K

I.  PanchaytiRaj/ 1. Non-constitutional/
TET T R R

Il. Election Commission/ 2. Localgovernment/
AT AT AT AR

lll. Central Information 3. Constitutional/
Commission / sh&Iar gt

AT T
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Options:
1)I-1,11-2,1II -3
2)I-2,11-1,1I1-3
3)I-2,I1-3,1II-1

4)I-1,11-3,1I1-2
Correct Answer: I1-2,I11-3,III-1
Candidate Answer: I-2,II1-3,III-1

QID : 289 - All the members of a municipality are by the people of municipal area.

FIRITTOIHT & H HeE IR Trfetent &1 & @l ganr EIckd
Options:

1) Elected directly

FeTeT &9 H I

2) Elected indirectly

3CTET & F oA

3) Nominated proportionally
HTaTich ¥ & Helleliel T

4) Nominated indirectly

IYCTET T § FAAledld fhT

Correct Answer:  Elected directly
TeheT &9 & oA

Candidate Answer:  Nominated indirectly

UcTeT §T H FAlATd [T

QID : 290 - The maintenance functions of living organisms are performed by the

Siralt 3 reeaToT Z@RT T ST B
Options:

1) chemical processes

LHTAA-HshH

2) life processes

Sta-Iha

3) physical processes

sifae-gera

4) No option is correct.

1S fashed T =1eT B

Correct Answer:  life processes
Sta-geha

Candidate Answer: life processes
Sg-ushe

QID : 291 - Which of the following may cause the breakdown of pyruvate into lactic acid in our muscles?

Peafaf@a & O i a1 g9 IR & urde 1 JfFes 31ed F W T HRUT & haT 87
Options:

1) Lack of water

STl T AT

2) Lack of Oxygen

JiTerEiSTeT T et

3) Lack of carbon dioxide

FTeT STE3iTFass Hr FA

4) Lack of nitrogen

ATSCISTeT ST AT

Correct Answer:  Lack of Oxygen
3iTreISTeT &7 AT

Candidate Answer:  Lack of Oxygen

BIEsimcEICT:)

QID : 292 - In September 2017, “Pradhan Mantri Sahaj Bijli Har Ghar Yojna” was launched for giving electricity connections in rural and urban areas by

TAassx 2017 &, JTHOT FAUT AT &1 7 A Tae FoAerelal FeTel el & e “wenere = aget frsrel g3 o) Aistelr” eemifia i a1$ o
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Options:

1) March, 2019

A, 2019

2) December, 2018

e, 2018

3) March, 2018

A, 2018

4) October, 2018

3reFgay, 2018

Correct Answer:  December, 2018

fegF, 2018

Candidate Answer:  March, 2019
A, 2019

QID : 293 - By which process the Chinese Scientists have cloned two identical long - tailed macaques?

e gfsrar garT et & daforent o ar 31feeT -G arel Herren! &7 Fellel T 52
Options:

1) Polymerase chain reaction

2) Parthenogenesis

31T SieteT

3) Somatic cell nuclear transfer

&R ifIeAr AT gEdiaroT

4) Embryonic cell nuclear transfer

30T FHITRAHT AR FEATALOT

Correct Answer:  Somatic cell nuclear transfer
&R ifIer anfde gediaroT

Candidate Answer: [ NOT ANSWERED ]

QID : 294 - In India, how much percent of GDP is the fiscal deficit target for the Financial Year 2017-18?

IR &, NS T fohdaT wfaera e a¥ 2017-18 F AT TN =TT dféid 87

Options:

1) 4.20%

2) 3.20%

3) 2.20%

4) 4.00%

Correct Answer:  3.20%

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - On 10 April 2017, Lok Sabha Passed the Motor Vehicles Act (Amendment) Bill, 2016. Under the new provisions, government will develop a scheme for
cashless treatment of road accident victims during

10 37T 2017 T, AHHAT 77 AT algeT AT (FelereT) e, 2016 T T | AT Traeail & Hceld WER __ & SN H5oh guieet & Nfsdl & derord
39TR & foIvw T At faefaa sl
Options:

1) Silver hour

Rea 3R

2) Platinum hour

clfeee 3ifax

3) Diamond hour

3HE ATaR

4) Golden hour

TMeae ifaR

Correct Answer:  Golden hour
Mes Afax

Candidate Answer:  Golden hour

Mes 3HTaT

QID : 296 - A bullet of mass 10gm is fired with a velocity of 40 m/s from a gun of mass 8 kg. Find the recoil velocity (in m/s) of the gun.

8 6.3 gearATeT arelt forelt Sogen & 10 I AT aTell Teh aMelr 40 3HT./&. & I9T § Tolls AT ¢ Togh & NS geat & e (3A./3. ) A1 A
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Options:

1)2

2)0.1

3)4

4) 0.05

Correct Answer:

Candidate Answer:

0.05
[ NOT ANSWERED ]

QID : 297 - During uniform motion of an object along a straight line, its

Tl T 1 TRHATT Aol X 1T & NI FHT & 1Y sHenl __ fAard g g
Options:

1) acceleration

cauT

2) deceleration

JaFHEA

3) force

EC)

4) velocity

g

Correct Answer:

I

Candidate Answer:

e

velocity

velocity

QID : 298 - The bodies of penguins are

- Powered by IBT

remains constant with time.

and their feet have webs, making them good swimmers.

dfFag TR 811 § 31K 57 tRY 7 Siver SHam 917 81T § TH9d A 3 o’ gla &

Options:

1) heavy

amdr

2) feathery
EEEARS

3) streamlined
TR

4) oily

el

Correct Answer:

YRR

Candidate Answer:

YRGS

streamlined

streamlined

QID : 299 - Which of the statements given below are correct?

A) Dani Pedrosa won the 2017 Qatar Motorcycle Grand Prix MotoGP.
B) Bernhard Langer won the Golf 2017 BMW PGA Championship.
C) Dustin Johnson won the Formula One 2017 Abu Dhabi Grand Prix.

PeRRTA s aTFIT I &2

A) gl 91T & a¥ 2017 T FHeR Area@rsihd ar & Aeisidr e s
B) §=%18 Jlar ¥ e 2017 Siusssey foiv AfFuz=fag s

C) sfeea Siladet o Wiaer e 2017 3 &raly 3 Y Sl

Options:

1) Only B
%aed B
2)Band C
B3R C
3)A,Band C

A B3R C

4) None of these
SoH § IS G
Correct Answer:
For A IS AET

Candidate Answer:

None of these

[ NOT ANSWERED ]
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QID : 300 - In Microsoft Word, under character formatting increases/decreases the size of the characters.

HATSHIATFE g8 H, FFeT BIATEIT F 3iddd __ T & R HT TGIdT/EeTdT &
Options:

1) Size

E;IEaES

2) Font

Blec

3) Effects

EEIC)

4) Font style

Hiee el

Correct Answer:  Size
TR

Candidate Answer:  Size
3P





